



$$\frac{\partial S_a}{\partial t} = -\beta \frac{1}{m} \frac{\partial H}{\partial S_a} + \gamma \alpha \quad f = -\nabla u$$

Dynamical RG

$$\frac{\partial h}{\partial t} = \nu \nabla^2 h + \frac{\lambda}{2} (\nabla h)^2 + \dots$$

perturbation  $\rightarrow$  RG

$$\frac{\partial h_0}{\partial t} = \nu \nabla^2 h_0 + \dots \quad h = h_0 + \lambda h_1 + \lambda^2 h_2 + \dots$$

$$\frac{\partial h_0}{\partial t} + \lambda \frac{\partial h_1}{\partial t} = \nu \nabla^2 h + \frac{\lambda}{2} (\nabla h_0)^2 + \dots$$

为差的标度行为

over damped

$$m\ddot{x} = -\frac{1}{m} \dot{x} + f + \xi$$

$$\dot{x} = m f + \eta$$

随机变量

$t \ll t_0$   $\eta$  不重要  $x = x_0 + vt$  distance  $\sim t^2$

$t \gg t_0$   $\eta$  不重要  $\sigma = \langle x^2 \rangle - \langle x \rangle^2 = 2Dt$

$$D = k_B T \mu$$

$$V = \frac{k}{2} x^2 \quad f = -kx \quad \dot{x} = -\mu kx + \eta$$

$$\langle \eta(t) \rangle = 0 \quad \langle \eta(t) \eta(t') \rangle = 2D \delta(t-t')$$

$t' = bt$  标度不变性  $x(t) = e^{-\mu k t} x(0)$

$$y = e^{\mu k t} \eta(t)$$

$$x(t) = x(0) \left[ e^{-\mu k t} + \int_0^t e^{-\mu k (t-t')} \eta(t') dt' \right]$$

$$\bar{x} = x(0) e^{-\mu k t} \quad \text{标度平均}$$



~ X

DATE

OM OT OW OT OF OS OS

NOTES

确定 不确定

$$x(t) = x_1 + x_2$$

$$\langle x^2 \rangle - \langle x \rangle^2$$

$$\overline{x^2} = \overline{x_1^2} + 2 \underbrace{\overline{x_1 x_2}}_0 + \overline{x_2^2}$$

$$= x^2(0) \int_0^t e^{-\mu k(t-t_1)} \eta(t_1) e^{-\mu k(t-t_2)} \eta(t_2) dt_1 dt_2$$

$$= x^2(0) \int_0^t e^{-\mu k(t-t_1) - \mu k(t-t_2)} 2D \delta(t_1 - t_2) dt_1 dt_2$$

$$= 2D x^2(0) \int_0^t e^{-2\mu k(t-t')} dt'$$

$$= 2D x^2(0) \int_0^t e^{-2\mu k t'} dt' = \frac{2D x^2(0)}{2\mu k}$$

平衡时  $P = -e^{-\beta u} = e^{-\frac{\beta}{2} k x^2}$   $\langle x^2 \rangle = \frac{1}{\beta k} x^2(0)$

$$\frac{2D}{2\mu k} = \frac{1}{\beta k} \iff D = k_B T \mu \quad \text{平衡时 T 定义}$$

标度行为与不变性

$$\frac{d}{dt} x(t) = -\mu x(t) + \eta(t)$$

$$t \quad x(t), \mu, D, \eta(t)$$

$$t' = bt \quad x'(t'), \mu', D', \eta'$$

$$\phi'(ck') = \phi'(bk) = b^2 \phi(k)$$

$$\frac{d}{dt'} x'(t') = -\mu' x'(t') + \eta'(t')$$

$$\eta'(bt) = b^2 \eta(t)$$

$$\langle \eta'(t'_1) \eta'(t'_2) \rangle = 2D' \delta(b(t_1 - t_2))$$

$$\delta(bx) = b^{-1} \delta(x) \quad = 2D' b^{-1} \delta(t_1 - t_2)$$



$$b^{2\delta} \langle \eta(t_1) \eta(t_2) \rangle = 2D b^{2\delta} \delta(t_1 - t_2)$$

$$D' = D b^{2\delta+1}$$

$$\text{if } \delta = -1/2, D' = D$$

$$x'(t') = x'(\delta t) = b^z x(t)$$

$$\frac{b^z}{b} \frac{d}{dt} x = -\mu' b^z x + b^6 \eta$$

$$\frac{d}{dt} x = -\mu' b x + b^{6+1-z} \eta$$

$$\text{if } \mu = \mu' = 0, \text{ 则 } b^{6+1-z} = 1, z = 1/2, \delta = -1/2$$

$$\mu'(b)b = \mu \quad \mu'(b) = \mu/b$$

$$\langle x^2 \rangle = 2Dt \quad \langle x'(t') \rangle^2 = 2D't' = 2D\delta t$$

$$b^{2z} \langle x^2 \rangle = 2Dt b \Leftrightarrow z = 1/2$$

$$\text{讨论 } \frac{\partial h(\vec{x}, t)}{\partial t} = v \nabla^2 h(\vec{x}, t) + \eta(\vec{x}, t)$$

$$\langle \eta(\vec{x}, t) \eta(\vec{x}', t') \rangle = 2D \delta(\vec{x} - \vec{x}') \delta(t - t')$$

$$\vec{x}' = b\vec{x} \quad t' = b^z t \quad h'(\vec{x}', t') = b^x h(\vec{x}, t)$$

$$\eta'(\vec{x}', t') = b^6 \eta(\vec{x}, t)$$

$$b^{x-z} \frac{d}{dt} h(\vec{x}', t') = v' b^{x-2} \partial_{x^2}^2 h + b^6 \eta$$

$$\frac{\partial h(\vec{x}', t')}{\partial t'} = v' \frac{\partial^2}{\partial x^2} h'(\vec{x}', t') + \eta(\vec{x}, t')$$



$$\frac{d}{dt} h = v' b^{x-2-x+z} \cdot \partial_x^2 h + b^{6+z-x} \eta$$

$$x = z + 6 \rightarrow \text{标度不变性}$$

$$z = z$$

$$\langle \eta'(x_1, t_1) \eta'(x_2, t_2) \rangle = 2D' \delta(x_1 - x_2) \delta(t_1 - t_2)$$

$$= 2D \delta(b(x_1 - x_2)) \delta(b^z(t_1 - t_2)) =$$

$$2D' b^{(d-1)z} \delta(x_1 - x_2) \delta(t_1 - t_2)$$

$$\eta' = b^6 \eta$$

$$b^{26} \langle \eta(x_1, t_1) \eta(x_2, t_2) \rangle = 2D b^{26} \delta(t_1 - t_2)$$

$$\delta(x_1 - x_2) \quad D = D' \text{ 不变} \Leftrightarrow 26 = 0 - z - (d-1)$$

$$6 = -\frac{1}{2}(d-1) - \frac{z}{2} \quad x = z + 6 = z - \frac{d-1}{2} - \frac{z}{2} = \frac{z-d-1}{2}$$

$$x = \frac{z-d}{2}$$

$\frac{d}{2} (\partial h)^2$  term

$$(x', t') \quad \frac{\lambda'}{2} (\nabla' h')^2 = \frac{\lambda'}{2} b^{2x-2} (\nabla h)^2 =$$

$$\frac{\lambda'}{2} b^{z-d-2} = \frac{\lambda'}{2} b^{-d} (\partial h)^2 \quad \text{relevant}$$

$$\frac{\partial h(\vec{x}, t)}{\partial t} = v \nabla h + \eta$$

$$\frac{\partial h(\vec{k}, t)}{\partial t} = -v k^2 h(\vec{k}, t) + \eta(\vec{k}, t)$$

$$\text{基} \neq \langle \eta(\vec{k}, t) \eta(\vec{k}', t') \rangle = 2D \delta(t - t')$$



# love story

DATE

$$\mu = \nu k^2$$

$$h(\vec{k}, t) = h(\vec{k}, 0) e^{-\nu k^2 t} + \int_0^t e^{-\nu k^2 (t-t')} g(\vec{k}, t') dt'$$

$$b = \frac{x_0^2}{\mu}$$

$$\langle h^2(x, t) \rangle = \langle h(x, t) \rangle^2 = \sum_k \frac{h^2(k, 0)}{Mk} = \sum_k \frac{1}{\nu k^2}$$

$$\langle g(k, t) g(k', t') \rangle = 2D \delta(t-t') \delta(k-k')$$

考虑  $t \rightarrow \infty$  行为

$$\Omega d \int \frac{dk k^{d-1}}{\nu k^2}$$

$$d=1 \quad \approx 2$$

$$d=2 \quad \approx 2, \text{ 发散}$$

$$d=3 \quad \text{发散}$$

Q

$$h(\vec{k}, t) = h(\vec{k}, 0) e^{-\nu k^2 t} + \int_0^t e^{-\nu k^2 (t-t')} g(\vec{k}, t') dt'$$

$$\langle h^2(x, t) \rangle = \sum_{kk'} \langle h(k, t) h(k', t) \rangle =$$

$$\sum_k \langle h(k, t) h(-k, t) \rangle$$

$k = k_1 + k_2$       $k_1, k_2$  无关联  
确定 不确定

$$= \sum_k \int_0^t e^{-\nu k^2 (t-t')} e^{-\nu k^2 (t-t'')} dt' dt''$$

$$= 2D \sum_k \int_0^t e^{-2\nu k^2 (t-t')} dt'$$

$$= 2D \sum_k e^{-2\nu k^2 t} \int_0^t e^{2\nu k^2 t'} dt'$$



$$= 2D \sum_k e^{-2vk^2 t} \frac{1}{2vk^2} (e^{2vk^2 t} - 1)$$

$$= 2D \sum_k \frac{1}{2vk^2} (1 - e^{-2vk^2 t})$$

$$= 2D \left(\frac{1}{2\pi}\right)^d \int_0^\infty \frac{dk k^{d-1}}{vk^2} (1 - e^{-2vk^2 t})$$

$$\text{令 } vk^2 t = y^2 \rightarrow y = \sqrt{vt} k$$

$$= 2D \left(\frac{1}{2\pi}\right)^d \frac{1}{\sqrt{v}} (\sqrt{vt})^{d-2}$$

$$\propto \int_0^\infty \frac{y^{d-1}}{y^2} (1 - e^{-y^2}) dy \quad t^{\left(\frac{d-2}{2}\right)}$$

E-W model

$$\frac{\partial h}{\partial t} = v \nabla^2 h + \eta \quad \text{动量空间 Brown motion}$$

$$\frac{\partial h(k, t)}{\partial t} = -vk^2 h(k, t) + \eta(k, t)$$

$$\frac{\partial f}{\partial t} = -\mu f + \eta \quad \langle \eta(k, t) \eta(k', t') \rangle = 2\alpha(k) \delta(t-t')$$

$$f(t) = f(0) e^{-\mu t} + \int_0^t e^{-\mu(t-t')} \eta(t') dt'$$

$$G^2 = \langle (h(x, t) - \bar{h}(x, t))^2 \rangle \propto t^6$$

$$\text{KPZ equation} \quad \frac{\partial \phi}{\partial t} = v \partial^2 \phi + \left(\frac{\gamma}{2}\right) (\partial \phi)^2 + \eta$$

$$\dot{\phi} = \partial^2 \phi - m^2 \phi + g \phi^2 + \eta$$

$$\frac{\partial \vec{V}}{\partial t} + \lambda_1 (\vec{V} \cdot \nabla) \vec{V} + \lambda_2 (\nabla \cdot \vec{V}) \vec{V} + \lambda_3 \nabla \vec{V}^2 = \alpha \vec{V} + \beta \nabla \vec{V} \cdot \nabla$$

